Homework #8 Answers MATH 131

1. Find the indicated areas
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(a) [ 3In(2z) — (z +0.5) do = 8.5630
7613
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(b) [ Bcos(z)—(z—4)dz+ [ (z—4)—5cos(z) de = 12.8885
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2. (a) [r(t) dt =1.0986 thousand antibodies

0
7

(b) [r(t) dt = 2.1401 thousand antibodies
2

20
(b) distance fallen = [ v(z) dz = 739.5291meters
0

height = 5000 - 739.5291 = 4260.4709 meters

T
(¢) engine hits the ground when [ v(z) dz = 5000. solve for T.
0
Answer: 107.0399 seconds or 107.040 seconds

L@ [ 1) do= 102~ £0)
120 = 100 — £(0)
F(0) = —20
) J 7/) do = 7(32) - 112
80 = £(32) — 100

£(32) =20
5. (a) [(622 4+ 8z — 10)dx = 223 + 42? — 10z + ¢

(b) [(e* + 2)dx = 3e** +5In(x) + ¢
6. (a) [(22+5)(2*+4)dr = [2" +92% + 20dzx = %5 + 323 4+ 202 + ¢

(b) [8cos(2z) 4 20sin(5x)dx = 4sin(2z) — 4 cos(bz) + ¢



